Vector Geometry of grids and 2D shapes

Class: Date:

Mark

1) Using the diagram below, express the vector ML in terms of a and b.

A a B C D
—r—0 ® o
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2) Find the vector formed when the vector 2d-3c is added to point D.
Write the vector as capital letters e.g. AB.

A ¢ B C D
o0——0 ° °

3) Triangle PQR is shown below where P_Q =tand PR =x.

Q

Express the following vectors in terms of t and x.

a) PO b) RP ¢) OR
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4) OABC is a parallelogram where OA =xand OC =z.

Express the following vectors in terms of X and z.

a) AB b) BC ¢) OB

5) ABCDEF is a regular hexagon where OA =tand OB = y.
B

YA

E

Express the following vectors in terms of t and y.

a) AB b) DB c) OC
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6) ABCD is a rectangle where AB = t, BC =y and M is the mid-point of AD.

C

D

Express the following vectors in terms of t and y.

a) A_]W) b) B_M

7) ABCD is a trapezium with BC parallel to AD.
M is the midpoint of AD and N is the midpoint of BC.

Given that AB = 2¢, BC = 2a and AD = 6a, express M N in terms of a and c.

B N C
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8) OABC is a parallelogram where OA =6x and OC = 6z.
D is the point on AC for which AD = %AC.

Express OD in terms of x and z.

9) ABCD is a trapezium with BC parallel to AD and AD =2BC.
R is the point on AD for which AR:RD = 3:1.

Given that AB = z and BC =k, express RC in terms of z and k.

B C
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10) ABCDEF is a regular hexagon where AB=z and AC = y.
B

E

Express the following vectors in terms of z and y.

a)B_E
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Solutions for the assessment Vector Geometry of grids and 2D shapes

1) ML = 3a-b

3a)po=t
b) RP = -x
c)Q7€=-t+x
d)@zt-x

S)a)AB=y—1t
b)DB=t+y
)oC=y—t
d)FD=y—2t

7) MN = 2c—2a

9RC=z-%

2) Vector = DI

4)a)fﬁa=z
b)fg_()jz - X
c)0§=x+z

dAC=z—x

8) OD = 4x+2z

10) a) BE = 2y — 4z

b) CE=y-3z
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